Search and Detection
Optimal Allocation of Discrete and Continuous Search Effort

1.  A stationary target is in 1 of 3 possible cells.  The vector of target location probabilities is p=[.5 .4 .1].  The overlook probabilities in each cell are q=[.5 .8 0].  If 17 discrete looks are to be allocated over the 3 cells,


a.  What is the search plan to maximize Pd?


b.  What is the maximal Pd? (ans: .95)


c.  What are the detected masses and undetected masses in each cell after the optimal search?

2.  A stationary target is in 1 of 3 possible cells.  The vector of target location probabilities is p = [.1 .4 .5].  The mean time to detection vector is = [1 2 3].  If 5 time units of search effort are to be allocated over the 3 cells,


a.  What is the search plan to maximize Pd?


b.  What is the maximal Pd? (ans: .5759)


c.  What are the detected masses and undetected masses in each cell after the optimal search?
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